QSC % — HikEsA
MIGR « STRETBIEMNER « AEREIEE - THMHEER

MRR
(=] B @4, @6, @8, @10,@12,5/32",1/4",5/16",3/8", 1/2"

fEFRRAE TR

EREBHEE kef / cm? (kPa) 0~9(900)

BRAMEHES  kef/cm? (kPa) 10(1000)

ERREHE °C 0~60

IEIRE1EE 10(8)&

b S| iR (§58)

Bh2 POM, PA

EEORK Re(PT/NPT) M3x0.5p, M5x0.8p (10/32"),1/8", 1/4",3/8",1/2"
TFERERE MR

IEEEAsE QSC-6-01-A
1 2 3 4

1 B 2 BiE 4 I
e SR | 2% (mm) || 5% | 25 (mm) osc
4 o4 5/32 @3.97 601A
6 @6 1/4 6.35 :3
8 28 5/16 @7.94 A
10 210 3/8 @9.53 - :
QSC: AERIETE 12 @12 1/2 @12.7 salh R )
Qsc
3 e e
w3t | 2% et | % He
M3 | M3x0.5p — —
M5 M5x 0.8 10/32| NR10/32" B: ERENAES (4575 )
01 PT 1/8" 1/8 | NPT1/8"
02 PT 1/4" 1/4 NPT 1/4"
03 PT 3/8" 3/8 | NPT3/8"
04 PT1/2" 1/2 | NPT1/2"
M3 #Ri& %4 QSM PRIEFRAS BEIH
HeERERTED
AEIEE A SRR
03 o1 w3t e " w3k E] HE
o 5 01 | iEERiE e 09 s i - a8
| = 02 | ExigE i - 10 | EEeiE By
05 ‘ 03 | EEEE - e 1 g 15
= | 1) 04 | owmm BE 1 R P
| g ® 05 oz A2 13 "REREE i - R
06 ‘ - 06 (ot} B2 14 mh FiEsH
o3 : a 07 B 182 15 TR B =
? 08 | fmEam -
09 15

4-2.5



QSC R% — REEH
BUERRIE BRI - L RE

IERE
©C AHIRKE . O IS .
Bl :mm B : Inch
& (PT g
T & e m L L
M5 | 1/8" | 1/4" | 3/8" | 1/2 10/32" | 1/8" | 1/4" | 3/8" | 1/2
QsC4-[1 o4 [ [ ] ([ ] — — QsC5/32"-0 5/32" [ [ ] [ ) - —
QSC6-[J 26 ) ) o ) - QsC1/4"-0 1/4" ) ) ) ) —
Qscs8-0J 28 - ° ) ) — QSC5/16" - 5/16" | — ) ) ) -
QSC10-[1 210 | — — ° ° ) Qsc3/8"-0 3/8" — - ° ) )
Qsc12-0J 212 — — — ) ) Qsc1/2"-00 1/2" - — — ) ®
RSB A M
C - [A] FisARS - i © - [B] iz AZS
%] EIR R
HEmE
TE R E
© QSC 4 —M5 ©QSC 6 —01 ®© QSC 8 —02
& 15 100 & T 30 200 & & 6.0 —T1a00 &
€ € €
£ ., £, ] ¢ E. e &
= l z = > / z - / 300 2
I / so E i 100 E e 200 E
5 05 - 5 10 - 5 20 -
® / ﬂm_,“ ® HoOR 100
T S iz L1 g Ik —1 S
2 4 6 8 2 4 6 8 10 2 4 6 8 10
SRRE B [E 3 B SRR e ] BH BY S B ey [ BE BY
© QSC 10 —03 © QSC 12 —04
£ 1 / 800 52? £ 25 1500§
£ 10 < E 20 / <
" / ER / £
= 8 500 E @ 15 1000 E
& R 3
® 4 ] % 8 500 g
T S i S
2 4 6 8 10 2 4 6 8 10
EEEE RS Sy BEEEE IR 2y




QSC % — MiEEsA
SMERER R

QSC &% HEER

©C AHIRKE .
B : mm
pid v B L o% =
%BE R?(L%) k) A max | min ¢ E max | min 061 062 ﬁ*}g Eﬁﬁgﬁ Egg;g
a. M5 | QSC4-M5 3.8 |27.8|24.8|14.8|19.9|29.7|26.7|105| 10 | 8 4 10
i @4 | 1/8" | QSC4-01 6 |35.4|31.6|14.6|21.6|38.4|346|10.5|14.2| 12 5.5 20
1/4" | QSC4-02 9 | 37 |33.4|146|21.6|415|37.9|10.5|18.6 | 17 12.5 34
M5 | QSC6-M5 3.8 |27.8|24.8|17.1|21.8|29.7|26.7|124| 10 | 8 4 10
o6 1/8" | QSC6-01 6 |354(31.6|17.1|23.7|384 346 124|142 | 12 5.5 20
= 1/4" | QSC6-02 9 | 37 |334|17.1|259|415|37.9|12.4|186 | 17 12.5 36
3/8" | QSC6-03 10 | 453|402 |17.1| 28 |50.3|45.2|12.4| 23 | 19 20 60
1/8" | QSC8-01 6 |35.4|31.6|18.9|255|38.4 346|143 |14.2| 12 5.5 20
@8 | 1/4" | QSC8-02 9 | 37 [334|189|27.7| 415|379 143|186 17 12.5 36
3/8" | QSC8-03 10 | 45.3|40.2|18.9|29.9|50.3 452|143 | 23 | 19 20 60
1/4" | QSC10-02 9 | 37 |33.4|204|296|415|37.9|17.8|18.6| 17 12.5 40
@10 | 3/8" | QSC10-03 10 | 453|402 |20.4|31.7|50.3|452|17.8| 23 | 19 20 64
1/2" | QSC10-04 14 | 55 | 46.6|20.3|34.6| 62 |53.6|17.8|28.8| 24 35 98
o1 3/8" | QSC12-03 10 | 453|402 |22.8| 35 |50.3|45.2|21.5|21.2] 19 20 68
1/2" | QSC12-04 14 | 55 | 46.6|22.8|37.2| 62 |53.6|21.5|28.8 ] 24 35 102

H E
B ECELE -
” P B L t

-t ’jT %1.% Nﬁ:‘%n e A max | min ¢ £ max | min o6l B62 ﬁf ?;(&mﬁfﬁ EEE;E
\[”’ﬁ:i ﬁ NR10/32"|QSC5/32-10/32 | 3.8 | 27.8 | 24.8 | 14.8 | 19.9|29.7 | 26.7 | 10.5| 10 | 8 4 10
<;lmij1'\ 5/32"| 1/8" |QSC5/32-1/8 | 6 |35.4 |31.6|14.6|21.6|38.4 (346105142 12 5.5 20
T g IN ;i:}};;; 1/4" |QSC5/32-1/4 | 9 | 37 [33.4|14.6|21.6|41.5|37.9|105|186| 17 | 125 | 34
NR10/32"|QSC 1/4-10/32 | 3.8 | 27.8 | 24.8 | 17.1 | 21.8|29.7 | 26.7 | 12.4| 10 | 8 4 10

1/8" |QsC1/4-1/8 | 6 |354(316|17.1(23.7(38.4|346|124(142| 12| 55 |20
1/4" |Qsc1/4-1/4 | 9 | 37 [33.4|17.1]259|415|379 124|186 17| 125 | 36
3/8" |Qsc1/4-3/8 | 10 |453|402|17.1| 28 | 503 (452|124 23 | 19 20 60
1/8" |QSC5/16-1/8 | 6 |35.4(31.6|18.9|255(38.4|34.6|143|142| 12| 55 |20
5/16"| 1/4" |Qsc5/16-1/4 | 9 | 37 [33.4189|27.7|415|379]143]186| 17| 125 | 36
3/8" |Qscs5/16-3/8 | 10 | 453 |40.2|18.9|29.9]503(452] 143 ] 23 | 19 20 60
1/4" |Qsc3/s-1/4 | 9 | 37 |33.4|204]296|415]37.9]17.8]186| 17| 125 | 40
3/8" | 3/8" |QSC3/8-3/8 | 10 | 45.3|40.2|20.4 |31.7|503|452|17.8| 23 | 19 20 64
1/2" |QSC3/8-1/2 | 14 | 55 |46.6|20.3|34.6| 62 |53.6|17.8|28.8] 24 35 98
3/8" |QSC1/2-3/8 | 10 | 453]402|22.8| 35 |50.3|452215]21.2| 19 20 68
12" |osc1/2-1/2 | 14 | 55 |46.6]22.8|37.2| 62 |53.6|21.5]288] 24 35 | 102

1/4"

12"




	3.0-A_部分1123
	3.0-A_部分1124
	3.0-A_部分1125

